
Note: given the fact that you’re ‘obliged’ to answer the weekly questions, try to profit the most from the task:

- Start by reading the lecture notes (twice).
- Looking at them as little as possible, answer the questions.

The answers to the Week 6’s questions should be handed to me at the beginning of the 1st test. They should be manuscript (not typewritten) and preferably based on schemes (as I do in the whiteboard). Keep a copy for yourself.

Please write WEEK  6 in bold at the beginning of your answers.

Week 6 – problems with monetary policy (MP)

1.Starting at FE and with inflation at the target, explain the typical response of MP to a decline in AD. Illustrate using a graph.

2.  Starting at FE and with inflation at the target, explain an alternative response to a decline in AD, a response based on the replacement of MP by fiscal policy (FP).  Illustrate using a graph.

3. Explain why fiscal policy has been needed to fight the consequences of the Great Recession of 2008-9.

4. Suppose the governments had used FP to quickly re-launch AD to FE.  a) What could have been the ultimate effect on tax rates? Explain.
b) What could have been the effect on TB10 interest rates? Explain.

c) Why could that have ultimately led to defaults on public debt?

d) Why could that have ultimately to inflation? Explain.

5.a) Why has Japanese private investment remained persistently low since the early 1990s?
b) Are the EZ, the UK and the US facing a similar problem? Explain.

6. “In contrast to FP, MP can be regionally fine-tuned.” Do you agree? Explain.

7. a) What often happens at the end of expansions to the levels and structure of debts of many households and businesses?
b) What leads to debt?

8. Why can the use of MP at the end of expansions lead to recessions?

9. a) What led the Fed to raise interest rates in July 2004 – July 2006?
b) What were the effects of that increase in interest rates? Explain.

10. a) Explain the mechanism through which increases in  CB interest rates may reduce inflation.
b) Explain the two reasons why that mechanism may be weak.
11. a) “MP makes the costs of some loans uncertain.” Do you agree? Explain.

b) What’s the advantage of getting a fixed rate loan instead of a variable rate one? And what’s the disadvantage?
c) In which way do the current changes in interest rates generated by MP have a negative effect on the purchase of houses and on business investment?

d) The alternative policy framework outlined in the lecture would reduce or eliminate altogether the uncertainty of borrowers? Explain.

12. When the nominal interest rate is lower than inflation, borrowers benefit at the expense of saver. Why? Base your explanation on a numerical example.

13. Why do positive real interest rates necessarily penalize either workers or entrepreneurs or both?
14. Explain two reasons why positive real interest rates have a negative effect on business investment.

15. Using a time line, explain the meaning of outside and inside lags of economic policy.
16. Which of the two – MP or FP – has a larger outside lag? Explain.
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